A, "
¥ REUB AT

We can supply that:
Manual de Usuario Manuel de I'Utilisateur
Customer Service Servicio de atencion al Cliente Service a la clientéle
US: 1-800-645-2986 US: 1-800-645-2986 Canada: 888-645-2986

Pole Mount Bracket for
Global Industrial Wall Mount Fans

Model 293154

*U-bolt parts shown in this manual are not included.

CONTENTS

NO. | QTY DESCRIPTION

1 1 POLE MOUNT BRACKET POLE
2 1 MOUNT SUPPORT ARM

3 2 ADAPTER PLATE 79x44

H1 2 WASHER NYLON M10

H2 | 1 HEX CAP SCREW M8x150

H3 | 1 STOP NUT M8

H4 | 1 WASHER M8

H5 | 1 HEX CAP SCREW M6x25 HEX
H6 1 NUT M6

H7 | 1 WASHER M6

H8 | 1 HEX CAP SCREW M10x25 HEX
Ho | 1 NUT M10

H10| 1 WASHER M10

U-bolt
(not included)

=



Pole Mount Bracket
|

U-bolt nuts
(not included)

3 Speed pull chain

Power cord

M5 x 0.8mm x 9mm Lg. S\ \\
Phillips head screw \

\
Wire strain relief —

[]






